1

101.

102.

103.

104.

PHYSICS

Dimensional formula of the physical
quantity resistance is

A) [ML2T-3A-2]
B} [ML™1T3AT)
C) [ML2T-2K]
D) [ML-2T-3A2]

What does the speedometer of a
vehicle read/measure

A) Average speed
B) Average velocity
C}) Instanteneous speed

D) Instanteneous velocity

The magnitude of x and y components
of A are 7.and 6 respectively. Also the
magnitudes of x and y components
of A+ B are 11 and 9 respectively.
Calculate the magnitude of vector B

A) 10 B) 5
C) 6 D) 3

A bob of pendulum of mass 50 g is
suspended by a string with the roof of an
elevator. If the lift is falling with a uniform
acceleration of 5ms~2, the tension in the
string is (g = 10 ms™2)
A) O.5N
C) 0.25N

B) 0.225 N
D) 0.025 N

101.

102.

103.

104.

i R
siiferes 7 wfedy & R g @
A) [ML2T-3A2)
B) (ML-1T3A-1)
C) [ML2T-2K-1]
D) [ML-2T-3A2)

T ST o1 TTIHTG fehaeht Hia el € 7
A) 3ftEa Tifa
B) g "am
C) deshifers Tt
D) dTchIfersh qam

A F x 3T y gehi & aftmor oft s 7 8ik
6%l A+ B ¥ x oM y wre=hi & uftoy off
woer: 11 3R 9 §1. wfew B &1 yiwm 3@
Ey)

A} 10 B) 5

C) 6 D) 3

U G @1 50 T WX 9rel N U
FUTTH il O ¥ TF aR d wew gl IR
IeUH T 5 WA 2 % gun o § R

MWEAaRHA e oaa & ?
(g=107.82)
A) 05N B) 0.225 N
C) 025N D) 0.025N
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105. The angular speed of seconds hand
of the clock is

A) Hgoorads”
B) Morads
C) Yprads™

-1
D) %0 rad s

106. A particle moves from position
r,=(31+2]-6k)m to position
r, =(14i+13]+9k)munder the
action of a force (4i+]-3k)N then
the work done is
A) 46 J B) 56 J

C) 86J D) 104

107. A light and heavy body have equal
momentum, which one has greater
kinetic energy ?

A) A light body
B) A heavy body
C) Both have equal kinetic energies

D) Data given is incomplete

108. A flywheel of mass 50 kg is in the
form of a disc of diameter 0.5 m. The
kinetic energy when it makes 120
revolutions per minute about its axis

is (1 = Y2MR?)
A) 50 =2 B) 12.5 n2
C) 25 r? D) 100 n2

Page No. 26

105. u<) i Qg Tt ¢ =i Fvig iy §
A) %aoo rads™
B) %0 rads™!
C) %0 rads™

-1
D) %0 rads

106. WHFNTH I (41 +]-3K)N &
sieta feuft 7, = (31 +2]-6k) M. @
1, = (141+13]+9k) . 7 e 8|
e A ®
A) 46 J B) 56 J
C) 86J D) 10J

107. UF €kl 3R Wil TEG H AT T B,
Torah i S 1ftes geft ?

A) Tehl 9]

B) WRl a%g

C) <t Y it Tt w2l
D) fag g e of = §)

108. ©F 50 fFm &1 S 0.5 Hl. AH H
avat FEad ) e g & =l sl i e

120 i qof =Y vt Fweht TfeT Sl fepat
aft ? (1 = aMR?2)

&) 50 n2 B) 12.5 72

C) 25 n2 D) 100 2

AJEECE

:
@collegeduma;
India’s largest Student Review Platform



E

109.

110.

111.

112.

113.

114,

The weight of a body at the center of
earth is

A) 9.8 ms2
C) 4.9 ms2

B) 0
D) 10ms™2

The ratio of lateral strain to the
longitudinal strain is called

A) Young's modulus of efasticity
B) Bulk modulus of elasticity

C) Poisson’s ratio

D) Elastic limit

S| Unit of co-efficient of viscosity is
A) Nsm—2 B) Ns~'m?
C) Nsm™3 D) Ns—2m

30°C temperature in Fahrenheit scale
is

A) 68°F

C) 100°F

B) 86°F
D) 48.5°F

The fastest mode of transfer of heat is
A) Conduction
C) Radiatign

B) Convection
D) BothA&B

The ratio of displacement to amplitude,
when kinetic energy of a body executing
SHM is thrice the potential energy

B)%
D)%

3
t"’\)2

C)%

Page No. 27

109.

110.

11,

112,

113.

114,

geaf} 3 g, W T I W B
A) 9.8 A2
C) 497 @2

B) 0
D) 1082

qifeds faam w1 ageed fe=me @ sigam
HEAMI o

A) TITEET I AT WIS

B) SedTEHdT 3T deeh HId(eh

C) wige 3gHIq

D) YRy Him

T 10T <} S| TS &

A) Nsm2 B) Ns~'m2

C) Nsm3 D) Ns™2m
weETe TR 9T 30°C qToEH B

A) 68°F B) 86°F

C) 100°F D) 48.5°F
T 3 TRV <l dierad HTEAm §

A) TA B) Hae

C) faferror D) A 3R B gt
e T TS T 1 A T ATl T
aeg Y et St et W S 6 FF
Tqomt & A fereenToe & 21T 7 A9 A

A4 B) %

D)%
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115. The phenomenon of sound propagation 115. /g 1 i o T i TR 8

in air is A) i s
A) Isothermal process
B) Adiabatic process B) waIst wiwan
C) Isobaric process C) @wesa wishal
D) Isochoric process D) OH e Sisha

116. The number of electrons present in | 116. & & —2C ¥ Iufeyd soidei ht T& &
—2C of charge is

A) 1.25x101°
B) 1.25x1018

A) 1.25x101°
B) 1.25x1018

C) 1.6x1019 C) 1.6x1019
D) 1.6x1018 D) 1.6x10'8
117.  The electric field at a point is 117. hfagmfaem &a 8
A) Always continuous A) w5 fra
B) Continuous if there is no charge _
at that point B) 7Y foig W Hig amaw e 2 dft Pl
C) Discontinuous if there is a charge ) aR ﬁ@ T T 1A & &) P i
at that point
D) Both B and C are correct D) 3Hi B 3 C @ &l
118. In a region of constant potential 118. eaA fE S w7 8
A) The electric field is uniform A) forea 85 mam R
B) The electric field is infinity B) fre@ & ara
C) There canbe no charge inside the
e . C) i e g e 7 B
D) None of the above D) 3w # Q &g 7E
119. Dielectric constant for a metal is 119. & utg & fere amgfoes s
A) zero B) infinite A) T B) ¥
C) one D) ten C) @ D) &4
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% Two identical capacitors have the
same capacitance C. One of them is
charged to potential V, and the other
to V,. The negative ends of capacitors
are connected together. When the
positive ends are also connected, the
decrease in energy of the combine
system is

A) (—:' (Vf - V3)
B) < (VF+V3)
o) o (-’
D) %(v1+v2)2

121. The voltage V and current | graphs for a
conductor at two different temperatures
T, and T, are shown in the figure. The
relation between T, & T, is

L

T,
Vv T,

v

A) Ty>T,
B) T,<T,

D) Ti==

Page No. 29

120. A - uifwl A afa C 1 7 ¥ @&
F V, SR gR I V,, 7 e i st
1 it & sRUTeTS Bi U o A R 2
ta Q1 % HTee o1e ot g Ru s & @
TR yomeft Y Fert & firmee S

A) 2 (VE- V)
B) < (V} +15)
0) ZV-Vo)
D) % (Vy +Va)°

121. = o ganers & 3 fafvm ammmt 1, 3
T, W deest V it fage | 7 gl i &)
T, 3R T, 1wy §

H

\' T,

A) T{>T,
B) T,<T,

D) ==
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122.

123.

124.

125.

A Cylindrical rod is- reformed to half
of its original length, keeping volume
constant. If its resistance before this
change were R then the resistance
after reformation of rod will be

A) R B) B

c) 3R/ D) %%

A proton, a deuteron and an
a— particle with same kinetic energy
enter perpendicuiarly in a uniform
magnetic field, then the radii of their
circular paths is

A) 1:1: 2
C)1:J§:1

B) V2 :1:1
D) 1:2:2

A galvanometer coil has a resistance
of 1562 and the meter shows full scale
deflection for a current of 4 mA. To
convert the meter into a voltmeter of
range 0 to 18V, the required resistance
is

A) 5885 in series
B) 4485Q in series
C) 58852 in parallel
D) 4485Q in parallel

Two identical magnetic dipoles of
magnetic moment 2 Am? are piaced
at a separation of 2 m with their axes
perpendicular to each other in air. The
resultant magnetic field at a mid point

between the dipoles is
A) 4/5x10°T B) 2/6x10°T
C) 4/5x107°T D) 2¥5x107°T
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122, e Tt FEa W@ g U STER 53

123.

124.

125.

T S ST A G T H: ST Sl B
afe; wierd &y 3o wiig R ot witEd
% Y e Sfer g

A) R B) B,

o 3% o) %

T T, T YR 2R G o 0 T EHA
gachia &7 & T nfes et % | sead
TR & B A I TaThi oY i B R

A)1:1: 2 B) V2 :1:1
C)1:2:1 D) 1:2:42

o feaiet o @1 gfedia 150 8 3R
Hix 4 mA F foge o & foe gof &
fadrqor gufar 31 Her A 0 & 18V AR &
aveie # waem & forg ifea wha @

A) 5885Q @e A |
B) 44850 JE= &|
C) 5885Q WA H|
D) 4485 THFIR #|

e e 2 Am? % 9 T 9 geh
fay 2 . A 30 W 3 v @ & 6 3Tk
77 a7 ¥ U-g@ ¥ weaa €1 Ry F e
Toig W wRomh gehig &= @

A) 45x10°T  B) 2/5x107°T
D) 2v5x107'T
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126.

127.

128.

129.

induction furnace makes use of
A) Self induction
B) Mutual induction
C) Eddy currents

D) None of these

A 30pF capacitor is connected to a
150V, 60Hz AC supply the rms value
of current in the circuit is

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

A transformer has 100 turns in the
primary coil and carries 8A current.
If input power is 1kW, the number of
turns in secondary coil to have 500V
of output will be

A) 100
B) 200
C) 400
D) 300

The waves used by artificial satellite
for communication is

A) Microwaves
B) IR waves

C) Radio waves
D) X-rays

Page No. 31

126. 1M W 1 TE W &

A) @™

B) =™
C) us urid

D) 3 & =1§ 7

127. ©& 30pF 9@ @& 150V, 60Hz AC

agfd ¥ Jor ¥ withe # Foreg @@ 1 ms
AR

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

128. w= R & wrenfies Foeh § 100 9 &
3R BA forepa w0 81 AR 1T iR kW R
A 500V Frfa e R o T fiedioes Feeh
% gl kY e gl
A) 100
B) 200
C) 400
D) 300

129. HaR & fog FHm I T ST a0 3
A) &R TTI

B) ¥ aat
C) iga wdl
D) X-ferwt
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130.

131.

132.

133.

Two lenses of power +10D and -5D
are placed in contact. Where:should an
object be held from the lens, so as to
obtain a virtual image of magnification
27?
A) 5cm
C) 10cm

B) -5cm
D) —10cm

What is the refractive index of material
of a plano convex lens if the radius of
Curvature of the convex surface is 5 cm
and focal length of the lens is 20 cm.

A) 8 B ¥
0 % D) %

In a double siit experiment the distance
between slits is increased 10 times,
whereas their distance from screen is
halved then the fringe width

A) becomes %30

B) becomes 790
C) remains same

D) becomes %0

The angle between pass axis of
polarizer and analyser is 45°. The
percentage of polarised light passing
through analyser is
A) 75%

C) 50%

B) 25%
D) 100%

Page No. 32

130. +10D 3R 5D Witk & &t 7w w9 o ofw
<3 §) o 7 A o A o g0 w @
S ifeh 2 atmae srer srmeh Ry
& T
A) 54t
C) 10&dt

B) -5 dtfi
D) —10 gt

131. ThURae -39 8 o YaTe} &7 S1gqdTis a1
T A I qss oY amar B 5 & afR
o9 it By gt 20 T 2

A B) %
o % D) Y4
132. = fafoss s &, foos % sftm i gt 10 7o

TG I et §, Serfor TR @ gl ameh A g
B @ gt Sters

A) %0 B ST B

B) ygo & STt R

C) Tam & 2|

D) %0 B 9T )

133. yefienat (Tieigsi) iR oot $ Uk s1ar
off9 1 0T 45° B freeivw A SRR Yl
YT T Wfdere 2

A) 75% B) 25%

C) 50% D) 100%
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134. If K, and K, are maximum kinetic
energies of photoelectrons emitted
when lights of wavelength A, and 1,

respectively incident on a metallic
surface if A, = 3),, then

A) K, > (531) B) K, < [552-)

C) K, =3K, D) K; = 3K,
135. If an electron in hydrogen atom
is revolving in a circular track of
radius 5.3x10~11m with a velocity of
2.2x10%ms™" around the proton then
the frequency of electron moving
around the proton is
A) 6.6x1012Hz
B) 3.3x1075Hz
C) 3.3x1012Hz
D) 6.6x10'9Hz
136. Tritium with a half life of 12.5 years

undergoing beta decay what fraction
of a sample of pure tritium will remain
undecayed after 25 years ?

A) One half

B) One fourth
C) One third
D) Three fourth

A Page No. 33

134.

135.

136.

el Teh HTfesien Y3 T SHAE: Ay R A, T
e S T AT ST & T TR Iehiq
HIcIgeIagid whi JAftrehan o Fei K, 3R
Ko 81aR A, =34, ], A

K
A) K, > (%2) B) K, < [—S%J

C) K, = 3K, D) K, = 3K,
Ife U ST SIEeSH AT 5,3% 107114,
$ Fi= & gumer 9y # WM F 9 iR
2.2x108ms~1 Y i & ¥ &1 B & DA
% TR 31K g0 T8 FoeH i i &

A) 6.6x1012Hz

B) 3.3x1075Hz

C) 3.3x1012Hz

D) 6.6x1075Hz
12.5 9t it ard g Tl gsfeAm & e
e & w1 #1 25 a9l & fomed & g
Y€ TRIEAH & Uah A I fohaet WM 3159
warg ?

A) e

B) e terd

C) = faerg

D) o= <herg
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137. 1 mg radium has 2.68x108 atoms.
Its half life is 1620 years. How many
radium atoms will disintegrate from
1mg of pure radium in 3240 years ?

A) 2.01x10°
B) 2.01x108
C) 1.01x10°
D) 1.01x108
138. What will be input of A and B for the

Boolean expression ?
(A+B)-(A-B)=1

A) (0, 0) B) (0, 1)
C) (1,0 D) (1,1)

139. The current gain for a common emitter

amplifier is 69. If the emitter current is
7maA, the base current is

A) 0.1mA B) 1mA
C) 0.2mA D) 2mA

140. The work done in placing a charge of

8x10~78C on a condenser of capacity
100pF is

A) 16x10-32
B) 3.1x10726
C) 4x10-10y

D) 32x10-32 )

137. T firelt o Weam # 2.68x108 v §
Tashi 31 a1y 1620 7 {1 3240 T i 1
Wem & 1 freh o & fore®t Woem woomyg
frerfea gy 7

A) 2.01x109
B) 2.01x108
C) 1.01x10°

D) 1.01x108

138. sc AIfr=AfRT (A +B)-(A-B) =1 % e A

M BF v F FT AW ?
A) (0, 0) B) (0, 1)
C) (1,0) D) (1,1)

139. T I Jeqsieh Faaw o fore fge wiid
69 21 IRk weiw fga 7mA 2 @t R
Rrga? '
A) 0.1mA B) 1mA '
C) 0.2mA D) 2mA

140. 100uF & aTftar I oF Wafd T o
8x10~18C =1 37w W& § wd 8

A) 16x10732)
B) 3.1x10726
C) 4x10-10Y

D) 32x10-32
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2

141.

142.

143.

The' potential at a point x (measured in
um}) due to some charges situated on the

2
x-axis is given by V(x)=( 3 0 voit. The

X" —4)
electric field E at x = 4 m is given by

A) % %m & in +ve x direction
B) 1% %m & in —ve x direction
C) 1% %m & in +ve x direction

D) % %m & in —ve x direction

Two wires of equal diameters, of
resistivities p; and p, and lengths
I, and |, respectively are joined in
series. The equivalent resistivity of the
combination is

A) pili+pals B) P1'I2+|le1
1-l2

I +15
pilo+paly pili—-pals
cy2"rz2t T
Iy +15 1712

The magnetic field due to current
carrying circular coil loop of radius
6 cm at a point on axis at a distance
of 8 cm from the center is 54uT. What
is the value at center of loop ?

A) 75 uT B) 125 uT
C) 150 uT D) 250 uT

141, T X T x — 318 WFHS 799 W@ 81 & FROT

v (um & 79 TR VI(X) = —0— e

(* - 4)

Rx=4mmRgaeaER

A) % V. o e x Rean )
B) 1% %m 37 oA x fomm #
c) 1% %m iR wrens x R )

D) % %m 3R ST x feam #)

142, 99 =9 91 & aR, e sfokeea p,
3T p, 3TN TaTs F: | 3K I, 8, Faen 4
W U & | G Y Geih) Wikt &

A) pili+pals B) P1la+pal;

C) p1l2+p2|1 D) p1|1—p2!2

|1+|2 |1_.|2

143. F5 8 8 TN A TP R AT W fig W

6 it rsu 3 garer el wid foreit fega
R, T geh &7 54T €1 olg F FF |

T A B 7
A) 75 uT B) 125 T
C) 150 uT D) 250 pT
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144. Soft iron is preferred as core of

transformer in the form of sheets due
toits

A) High retentivity, low coercivity and
low hysteresis loss

B) High retentivity, high coercivity
and low hysteresis loss

C) Low retentivity, low coercivity and
high hysteresis loss

D) Low retentivity, high coercivity and
high hysteresis loss

145. Rate of change of torgque t with
deflection 8 is maximum for magnet
suspended freely in a uniform magnetic
field of induction B when

A) 6=90°
B) 6 = 60°
C) 6=45°
D) 6=0°

146. In LCR circuit resonant frequency is
600Hz and half power points are at
650 and 550Hz. The quality factor is

A ¥
B) 4

C) 6
D) 3
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144, 99 % 9 § TG F FR & fauaf ar
=i iear € TR ], 396 TR

A) F== A, Fe st 3 fe
e o

B) 3= &, 3= adigsa 9 i
feeefefim afy

C) i sriwm, e sadiesa 3 3=
feefdia w1

D) fr= aiv, 359 sEdiesar 9 3==
feedfedta w1F

145. ™ B % T G YT &5 & s aeh
T gore & forg fadiawr & aner eyl <
yfErd i R AR @ g & 5w

A) 0 =90°
B) 8 = 60°
C) 0 = 45°

D) 6=0°

146, LCR ufde ¥ argew angfy 600Hz & ok
a1 wifFa foig 650 ok 550Hz W 8| o

O ©
A Y
B )
C) 6
D) 3
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148.

149,

150.

A convex mirror of focal length f forms
animage which is % times the object.
The distance of the object from the
mirror is

A) (n=1)f

B) (-1,

1) :

C) (n+1),
n

D) (n+1)f

A ray incident at a point at an angle of
incidence of 60° enters a glass sphere
of refractive index /3 and is refiected
and refracted at the farther surface of
the sphere. The angle between the
reflected and refracted rays at this
surface is

A) 50°
C) 90°

B) 60°
D) 40°

A double slit experiment is immersed
in a liquid of refractive index 1.33.
Separation between the slits is Tmm
and distance between slit and screen
is 1.33m. If slits are illuminated by a
parallel beam of light whose wavelength
is 6300A°, then fringe width will be

A) 6.3 mm

B) 83 mm

C) 0.63 mm

D) None of these

Which of the foilowing are not
electromagnetic waves ?

A) Cosmic rays

B) Gamma-rays

C) p-rays

D) X-rays

147.

148.

149.

O o gur foreh! BiFE g8 £ 7, T Tidfes
T S aeg Y, T o g A
R
A) (n—1)f
C) (””)f D) (n+1) 1

gy (0=

Tk 3RO 3 ST SR T O foig W i
60° Bt & ot /3 SrwERTE % T HiA &
Tt B ST Ch IS B & T i oh gL
983 YL yaaicre Bl &1 59 J% T wEiad iR
rvafda Rt 3 == =t o R

A) 50° B) 60°
C) 90° D) 40°

s sy T o 1.33 JUadis & 5§

g & fosii & sftmr o gt 1 et o foog o
tréawnaﬁaﬂws:ﬁ B Al fosi =
T % U FEFIGC R G g S
e TTan & Foroeht a0 3edfar 6300A° & A
g =S gt

A) 6.3 Frft

B) 63 fisfi

C) 0.63 finfi

D) ¥ & g &

150, frefeiea iy SA-d rgg ST ot Td § 7

A) Fitere foh
B) Tm1-fehtet|
C) p-frwi

D) X-Froi
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